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I CHE-091 

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination, 2019 

CHEMISTRY 

CHE-09 : BIOCHEMISTRY 

Time : 2 Hours] 	 'Maximum Marks : 50 

Note : Answer any five questions. All questions carry equal 

marks. 

1. (a) 	What is the difference between a nucleoside and 

a nucleotide ? Draw the structure of ATP. 	[5] 

(b) 	What is meant by catabolism and anabolism ? 

Draw a schematic diagram of complete 

metabolic breakdown of carbohydrates. 	[5] 

2. (a) 

	

	Write the structure of phospholipid, phosphatidyl 

serine ? Explain the rancidity of oils and fats. [5] 

(b) 	Classify carbohydrates on the basis of size of 

the molecule giving two examples for each class. 

[5] 
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(a) What is a peptide bond ? How is it formed in 

diglycine ? 	 [5] 

(b) Describe the role of Niacin or vitamin E in 

humans. 	 [5] 

	

4. 	(a) 	"ATP is considered as the energy currency of a 

cell." Justify the statement. 	 [5] 

(b) 	Write the general mechanism of an enzyme 

catalysed reaction. 	 [5] 

	

5. 	Differentiate between any two of the following :[5x2=10] 

(a) Cellular and Humoral immunity 

(b) Antigen and Hapten 

(c) Denaturation and Renaturation of DNA 

	

6. 	(a) 	What is Genetic code ? Write the initiation and 

termination codons. 	 [5] 

(b) 	Explain the lac operon. 	 [5] 

	

7. 	(a) 	What are fatty acids ? How are these synthesised 

in the cell ? 	 [5] 

(b) 	Describe the light reactions of photosynthesis.[5] 
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